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= Year 9/10               = GEOMETRY               = Worksheet 2
	1. Calculate (. AB is the diameter.
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	4.  Calculate (, given the radius = 2 cm   

and AB = 2 cm.      
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	6. Calculate 
[image: image1.wmf]b

a

+

.
                                                                 ((
                                                  ((


                                                             115(


	7. The radii of the circles are in the ratio of 2 : 3. Find a : b.
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	8. Calculate (  in degrees to one decimal place.
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	9. Refer to Q8. Calculate (  in degrees to one decimal place.

    
	10. Calculate the exact value of the diameter AB, given
[image: image2.wmf]5

=

BC

 
[image: image3.wmf]4

=

CD

.                   A
                                              D

                                                            4

                                  B                5                  C

	11. Calculate the length of CD, given 
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	Numerical, algebraic and worded answers.


1.  104


2.  84


3.  55


4.  30


5.  87


6.  115


7.  2 : 5


8.  16.6


9.  36.7


10.  15/4


11.  2
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